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Match #28


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1. 
Its pressure is approximately 90 atmospheres, and it appears to have active volcanoes.  Unlike Earth, its dry surface and lack of plate tectonics would explain why it does not have a magnetic field.  Its two main "continents" are known as Ishtar Terra and Aphrodite Terra.  What is this terrestrial planet, often known as Earth's “twin,” whose carbon dioxide atmosphere has led to temperatures in excess of 800 degrees?

ANSWER: Venus
2. 
It currently has several satellite campuses, including one in the United Arab Emirates, and one closer to home in Loudoun County.  Known as the most diverse university in the country, what school in Fairfax, Virginia, became the first Colonial Athletic Association team to reach the NCAA Men's Final Four?

ANSWER: George Mason University

3.
This four-letter Spanish word originally referred to someone who was traveling on foot, as opposed to a mounted caballero (kah-bah-YAY-roh). It then referred to peasants working on a hacienda (ah-see-AYN-dah). What word today refers to anyone working a low-level job, or to the Orc equivalent of a peasant in the game Warcraft? 

ANSWER: peon (PEE-awn or pay-OHN)

4.
Special preparations for it included constructing two artificial Mulberry Harbors and the construction of an underwater fuel pipeline. George Patton was placed in command of a fake army and negotiations were made with neutral Sweden to plan for a fake invasion of Norway. Gerd von Rundstedt and Erwin Rommel were in charge of German forces opposing what Allied invasion launched on June 6, 1944? 

ANSWER: D-Day or Normandy invasion

5. 
By early adulthood, this man partnered with Thomas Wheildon, and he also leased the Ivy Works in his home town of Burslem.  Queen Charlotte loved his work so much that she convinced him to name one of his pottery lines “Queen’s Ware.”  Name this great British potter, the grandfather of naturalist Charles Darwin.

ANSWER:  Josiah Wedgwood
6.
They flower in late winter or early spring and are in the family Sapindaceae (sah-pin-dah-SEE-eye). Name this tree of the genus Acer, whose sugar variety is used to make candy and syrup and whose leaf appears on the Canadian flag.

ANSWER:
maple
7.
John Smith took control of this political party in 1992, and the word ‘socialism’ was dropped from the party’s manifesto. It went from two seats in 1900 to forming the Government in 1929. James Callaghan and Michael Foot nearly destroyed it in the 1970s and 1980s, but it made a comeback in 1997, sweeping John Major and the Conservatives out of power. What political party is led today by Tony Blair?

ANSWER: United Kingdom Labour Party 

8. 
Roger Price and Leonard Stern invented and published the first edition of this set of books in the 1950s.  In an episode of “The Simpsons,” Lisa finds a book that gives her the power to conjure the Devil, but tosses that book in favor of one of these.  What book slash game requires the user to fill in blanks of a short story to create something funny?

ANSWER:  Mad Libs

9.
It consists of the stories of eight Senators, including John Quincy Adams and Robert A. Taft, who defied public opinion to make a principled stand. Some believe that it was actually written by researchers including Ted Sorenson. What work, published in 1956, earned national recognition for its author, then-Senator John F. Kennedy? 

ANSWER: Profiles in Courage
10.
The historian Sima Qian (CHEE-ahn) lived during this dynasty. Emperors in this dynasty included Ai, Wu and Xian (shee-an). The short-lived Xin (shin) dynasty split it into two units and it was followed by the Era of the Three Kingdoms. What Chinese dynasty ruled between 206 BC and 220 AD? 

ANSWER: Han Dynasty

11.
THIS IS A COMPUTATION QUESTION. What is the average of 16, 94, 33, 57, 55, and 15?

ANSWER:
45
12. 
Perhaps she was destined for tragedy, as this Queen of Thebes was the daughter of Tantalus.  Her husband Amphion committed suicide after their fourteen children were killed by a pair of gods.  Name this woman who became a rock with a weeping stream representing her tears, the result of her bragging about her children to Leto, the mother of Apollo and Artemis.

ANSWER:  Niobe (ny-OH-bee)

13.
They were established in 1995 in the core areas: mathematics, science, English and social studies. In 1997, schools began measuring their performance. Starting in 2004, students needed to pass the end of year tests in order to graduate. The goal of Virginia public schools is to be “fully accredited” under what program of learning expectations? 

ANSWER: Virginia Standards of Learning or SOL
14.
All of grammarian Greg Carlson’s three types contain a verb. One of the types was the “stage-level,” which indicates a temporary condition, such as “am hungry” in the sentence, “I am hungry.” A complete sentence must contain what group of words that includes the verb and modifies the subject? 

ANSWER: predicate
15.
The Millikan oil-drop experiment measured what fundamental constant which is about 1.602 times 10 to the minus 19 coulombs and abbreviated e?

ANSWER:
elementary charge of electron
Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
How many valence electrons does an atom of oxygen have?

ANSWER:
6
1B.
What Robert Louis Stevenson character makes a will leaving all his possessions to Mr. Edward Hyde? 

ANSWER: Dr. Henry Jekyll
2A.
Dmitri, Ivan and Alexei are the title characters in what novel by Fyodor Dostoevsky? 

ANSWER: The Brothers Karamazov
2B.
What city of 500,000 is the second-largest on Mexico’s Gulf Coast behind Tampico (tahm-PEE-koh), and was occupied by Americans in 1847 and 1914?

ANSWER: Veracruz (vay-rah-CROOS)

3A. 
On the show “I Love Lucy”, which actor portrayed Lucy’s husband, Cuban-born bandleader Ricky Ricardo?

ANSWER:  Desi Arnaz (also Lucille Ball’s husband in real life)

3B 
Scientists have reported that they have located a pool of chimpanzees in Cameroon carrying a virus similar to what retrovirus passed through bodily fluids?

ANSWER: HIV (DO NOT accept “AIDS”)

4A.
THIS IS A COMPUTATION QUESTION. What is the surface area of a brick of dimensions 8 inches, 9 inches, and 4 inches?

ANSWER:
280 square inches
4B.
What is the bit length of the int (rhymes with “lint”) data type in Java, and the signed short data type in Visual Basic, C sharp, C and C++? 
ANSWER: 16
5A.
Who was the Constitutional Union Party’s candidate in the Presidential election of 1860?

ANSWER: John Bell 

5B.
THIS IS A COMPUTATION QUESTION. If A equals 1 through Z equals 26, what is the numerical value of R times G?

ANSWER:
126
6A. 
Geographic information systems, computer-aided drafting, or even just a pen and paper can be used to create maps, in a field better known as what?

ANSWER: cartography
6B.
What literary character was the son of the Lord and Lady Greystoke, raised by the Great Apes, and was created by Edgar Rice Burroughs? 

ANSWER: Tarzan
7A.
What word can refer to a competition involving speed or to a group of people distinguished by their physical characteristics?

ANSWER: race
7B.
What property is demonstrated by a times the quantity u plus v end quantity equals au plus av?

ANSWER:
distributive property

8A. 
A team from what nation defeated Cuba 10-6 to win the first World Baseball Championship?

ANSWER: Japan
8B.
What type of punishment includes spanking, and is gradually being phased out of schools?

ANSWER: corporal punishment

9A.
THIS IS A COMPUTATION QUESTION. Convert the binary number 10101 (one-oh-one-oh-one) into a decimal number.

ANSWER:
21
9B.
Roseola and German measles are alternate names for what disease?

ANSWER:
rubella
10A.
What two Duchies (duh-CHEEZ) were disputed between Prussia and Denmark in the 1850s and 1860s? 

ANSWER: Schleswig and Holstein
10B.
What is the most common name of the Christian denomination known as the Religious Society of Friends?

ANSWER: Quakers
Third period, 15 toss-ups, 10 points each

1.
Officially known as Ectopistes (ek-TOH-pih-steez) migratorius (my-grah-TOR-ee-us), there may have once been five billion of them in the U.S.  The last wild one was killed in 1900 and Martha, the last one in captivity, died in the Cincinnati Zoo on September 1, 1914.  Name this extinct type of pigeon.

ANSWER:
passenger pigeon

2.
This four-letter verb is spelled the same but pronounced differently in its present and past tense. The present tense is a homophone for a type of tall grass that grows next to a marsh, and the past tense is a homophone for a color with a long wavelength. What is this word that means to examine the words in something, such as a book?

ANSWER: read (reed or red, of course)

3.
THIS IS A COMPUTATION QUESTION. Multiply the binomials x minus 5 and x plus 24. 

ANSWER: x squared plus 19x minus 120

4. 
In 2005, there were two separate incidents where debris fell on I-93, and though there was noticeable damage to fireproofing material in tunnel walls and ceilings, the project was declared safe.  In July 2006, a large mass of debris fell on a car in the Ted Williams Tunnel, killing a woman as she drove through what $14 billion Boston construction project?

ANSWER: Big Dig
5.
This year’s Presidential election featured Henning Bloom, Dick Gregory, Fred Halstead and Eldridge Cleaver. George Romney and Eugene McCarthy failed to get their party’s nominations on a peace platform. What Presidential election was known for its chaotic Democratic convention and featured George Wallace, Hubert Humphrey and the winner, Richard M. Nixon? 

ANSWER: 1968 Presidential election

6.
This novel starts, “I was born in the year 1632, in the city of York, of a good family.” Over the course of the novel, he studies the Bible. He begins to thank God for his condition, which is perfect except for the absence of society. An answered prayer brings “my man Friday” to the title character of what Daniel Defoe novel set mostly on a deserted island?

ANSWER: Robinson Crusoe
7.
Camille Saint-Saens (san SAHNZ) dedicated his third symphony to this man, while Richard Wagner (REE-card VAHG-nur) married Cosima, the daughter of this composer.  By age 27, which composer hit the music scene with his Grand Etude (AY-tood) of Paganini, and later cemented his place in history with his Hungarian Rhapsodies of 1851?

ANSWER:  Franz Liszt (LIST)

8
The protagonist’s husband, Guy, got his big break when the entire cast of a play mysteriously went blind. This bit of good luck occurs after Guy joins a cult led by his neighbors, the Castevets. After the protagonist gets pregnant, she loses weight and starts to crave raw meat. In what novel by Ira Levin, made into a Roman Polanski film, does the protagonist find out she is carrying the child of Satan? 

ANSWER: Rosemary’s Baby
9
Gian Gastone was the last member to have any temporal power. Originally they held the title of gran maestro, but after Cosimo the Great, they became the Grand Dukes of Tuscany. What family produced three Popes – Leo X, Clement VII and Leo XI – and ruled Florence between 1389 and 1737?

ANSWER: Medici family

10.
What charge is the most common charge of silver ions and is also the charge of potassium, cesium, and ammonium ions?

ANSWER:
plus one
11.
In 2002, this religion’s founder claimed it had averted a comet disaster and World War III. Believers, to improve mind and soul, practice five exercises daily. Li Hongzhi is the founder of what belief system, whose name means “Practice of the Wheel of Law,” that, since 1999, has been the target of a crackdown by the government of China?

ANSWER: Falun Gong or Falun Dafa

12.
His early books, Tales of the South Pacific and The Bridges of Toko-Ri, had unusually long titles for him. What author is usually associated with historical fiction with one-word titles, such as Chesapeake, Poland, Alaska, Texas and Hawaii? 

ANSWER: James Michener
13.
Emperor Kuzco in The Emperor’s New Groove gets transformed into one. Its closest relatives are the guanaco, vicuna, and alpaca. What camel-like animal is native to South America?

ANSWER:
llama
14.
He was the first to discover methane and also noticed that some gasses could be ignited by electricity. In response to a disagreement with Galvani, he developed a “pile” that delivered steady electric current, a forerunner to the modern battery. What Italian is honored today with the name of the SI unit of electric potential difference? 

ANSWER: Alessandro Volta
15.
Maintenance on this structure includes painting it every seven years with fifty tons of paint to prevent rust. It was intended to remain standing for only 20 years, but after it was used to relay signals during the Battle of the Marne, its teardown became unthinkable. What iron structure is 1,080 feet tall and is the symbol of Paris? 

ANSWER: Eiffel Tower or Tour Eiffel

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1. 
Following Dell's announcement of a recall, it was identified that this company was the actual manufacturer of the laptop batteries in question.  Toshiba and Lenovo also announced that they were recalling laptop batteries manufactured by what Japanese company, primary innovator of the Blu-Ray DVD format and maker of the Playstation?

ANSWER: Sony
2.
THIS IS A COMPUTATION QUESTION. What is the product of 2 plus 7i and 3 minus 2i?

ANSWER:
20 plus 17i
3.
Under his administration, Broadway was built and the wall that gave Wall Street its name was constructed. During his rule between 1647 and 1664, he fought constantly with his bosses at the West India Company in Amsterdam. The last governor of New Netherlands was what man whose nickname was “Peg Leg Pete”?

ANSWER: Peter Stuyvesant
4.
His real name is Bertilak de Hautdesert. On New Year’s Day, he shows up at Camelot. He challenges any knight there to strike him, provided he can return the blow a year and a day later. His head is then cut off, but he picks up his head and walks off. In an anonymous 14th century poem, what knight’s challenge was answered by Sir Gawain? 

ANSWER: The Green Knight

5
What type of hydrocarbon has the general formula CnH2n+2 and includes ethane and methane?

ANSWER:
alkanes

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

